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Siz questions may be answered.

Mathematical Tables may be obtained from the Superintendent,

1. What is meant by “ pole and polar ” ?
If A and B are two points and if the polar of A with respectfs
a circle passes through B, prove that the polar of B passes thro
A. ‘
740 marks]

2. Prove cither Ceva's Theorem or Menelaus’ Theorem.

0 is a point inside a triangle ABC and AO, BO, CO producs
meet the sides in D, E, F respectively. If BD=2DC and CE=2
prove that BF—=4FA and find the ratio of AO to OD.
[40 marks

3. Prove that the areas of similar triangles are in proportion @
the squares on their corresponding sides.

From a point P on the outer of two coneentric circles tang
PA, PB are drawn to the inner. PA, BA meet the outer agail
D, C respectively. Prove that CA: OB=CD? CP2

4. Prove (i) sec—! 3=2 cot ~'V2,

(i) tan —1 fg—-__’%—l— tan —1% -+ tar

19




Solve generally the equation

2 cos -+

1
2 cosf) 24
the values of ) that make

1

2 cosf+ —— a minimum,

: 2cosl)
[40 marks.]

I, I, are the centres of the escribed circles of the triangle

: . A B C
Prove (i) that g o g_?Z’ E_TZ are the angles and (ii)

1

B
=5+ b cosee 5 ¢ cosec 5 are the sides of the triangle
- -

-

z
Q

(42 marks.]

ough the point (3, 4) two straight lines are drawn each
angle 45° with the straight line +—2y—=1. Find the
these lines,

d also the area of the triangle formed by the three straight
[42 marks.]

ve that the equation of the tangent at the point (a1, y)
le 2+-y2=c? is 2l Lyyt=c2,

are the intercepts made on the axes by this tangent, prove
)

5o

[42 marks.]

& point such that the sum of the squares on the straight
P to the vertices of a given triangle is constant. Prove
15 of P is a circle whose centre is at the centroid of the

that the least value of the sum of the squares on the
8 joining any point to the vertices of a triangle ABC
+o3).

(42 marks.]

d the equation of the locus of the centre of a circle which
ough the point (1, —3) and touches the straight line

that the locus is a parabola and find the equation of its
length of its latus rectum.

{42 marks.]



